12 11 | 10 | 7 | 6 | 5 | 4 | 3 | 2 | 1
H
©
g DN100 PN10 EN1092-1 TO2
GECOAT ALUMINIUM
@ < \ 600 _ G
N - ——— T T T T — — ]
e ——— T ————
I S ——— =2 \( i
§§§§ , ./(-P\_ —
3 = S | [ | —
—= '
5 ~I =
5 .
I |
(o J A | A F
m /// /// L ;
(12 / / (3
*4 ///‘
; () / .
+ @ / | MANLUIK @200 ()
/
(&) /. 5
— 7 =
/ E
o\
r \
\ | )
. o S—— -~ | | DN100PN10EN1092-1T02 -
B @ H 3 GECOAT ALUMINIUM
Y Y Y Y
j 684 . +996 _ B 630 . 170 _ @
] M5 _ D
15 [ 2 |ROD400SC0250 GASDRUKVEER 10/2400MM 250N |C
. 604 _ 4] 2 A2 ZESKANTTAPBOUT M6x20 DIN933
- 13] 2 A2 VEERRING M6 DINT27
- - 12 6 A2 HOGE DOPMOER M8 DINT587
_ 1] 6 A2 ZESKANTMOER M8 DIN934
f | | 10 6 A2 VLAKKE SLUITRING M8 DIN125
I | 916 PA6 DUBO BORGRING M8
8 | 1 EPDM AFDICHTING INSPECTIELUIK
7 | 1 [2REKKIGA92  |AISI316 TYPE PLAAT
ol o 6 | 1 |LBOGOO-Z AIS| 304 ZEEFPLAAT 600LB
5| R 5 | 3 [LBO600-T AIS| 304 TREKSTANG 600LB
4 | 1 |LB0GO0-D AIS| 304 BOVENDEKSEL600LB B
3 | 1 [LB0600-C AIS| 304 VOORDEKSEL 600LB
| o5& | 2 | 1 |[B060O-B AISI304 | BAFFLEPLAAT 600LB
19 i 1 | 1 |LB0GOO-2A AISI 304 CASCO 600LB
=~ L _ ITEM| QTY | PARTNUMBER | MATERIAL DESCRIPTION
@ TITLE ZEEFBOCHT 600LB SCALE 1:10 | A1
FUNDATIEPLAN MATERIAL: MASS: 101,23 kg [~
—_—— REV[REVSTATUS _[DATE BY | CHECKED
= ==_ === =/ 0 |[InProgress
IS=ESIEIS = DRAWING NUVBER)
REKO Industrial Equi t BV
The Net%elri;::gs mgg.com LB0600-2 A
GEN. DIM. TOLERANCES ACC. TO 150 2768-mk | © THIS DRAWING IS ISSUED BY REKO INDUSTRIAL EQUIPMENT BV SUBJECT TO THE CONDITIONS
WELDING TOLERANCES ACC. TO ISO 13920-AE | THAT IT IS NOT COPIED EITHER IN WHOLE OR IN PART OR DISCLOSED TO THIRD PARTIES UNLESS
SHARP EDGES REMOVED ACC. TOISO 13715 PRIOR WRITTEN AUTHORISATION IS GIVEN BY REKO INDUSTRIAL EQUIPMENT BV
2 Il | 0] | | o) | o) | 4 3 | Z | I




H
1250 i
- 600 _
& © 3 ' i T :
m (L | L_
| [OF—- N /
1 N /
ly/lr } AN L/
(D) /] AN yd
/| \ /
@ % | - N d P
/T i
[
(10) /// _ DN150 PN10 ENT092-1 TYPE 02 -
/ GECOAT ALUMINIUM
(o) y ! !
/
(8 / 3
a / = @ INSPECTIELUIK
/ @200 B
3 4 s el
[
/ ! o
[ T / 8 B B
/
d o
- LN
N\ 3 E
N\ 1 i
/1 % Y —— \\ NN |
] T ———
o —_—_—
No__ oS T ) H S ( > o35 N DN200 PN'10 EN1092-1 TYPE 02
/ U i = T GECOAT ALUMINIUM B
X . Y Y — —_ Y / Y Wl -
] 680 1170
12 - T
e - i 5 §
D
- 680 -
530 75 —
A 1 ; { _9; _ _?_
C
2] 2 A2 ZESKANTTAPBOUT M6x20 DIN9G33
1] 2 A2 VEERRING M6 DIN127
ol o 10 6 A2 HOGE DOPMOER M8 DIN1587
S| B & 9 | 6 A ZESKANTMOER M8 DIN934
T T 8 6 A2 VLAKKE SLUITRING M8 DIN125
716 PAG DUBO BORGRING M8
6 | 1 EPDM AFDICHTING INSPECTIELUIK
5 | 1 [2REKKIGA9-2  |AISI 316 TYPE PLAAT
4 | 1 [1B1200Z AIS| 304 ZEEFPLAAT 1200LB B
@15 (4x) 3 | 3 [LB1200-T AIS| 304 TREKSTANG 1200LB
2 | 1 |LB1200-B AIS| 304 BAFFLEPLAAT 1200LB
| | / 1 | 1 |LBT200-A AIS| 304 CASCO 1200LB
y L & ITEM| QTY | PARTNUMBER | MATERIAL DESCRIPTION
@ TITLE: ZEEFBOCHT 1200LB SCALE 1:10 | A1
FUNDATIEPLAN MATERIAL: MASS: 147.63 kg [~
—— ———c—— |REVIREVSTAIUS |DAIE BY |CHECKED
= 5= 2= 5 =| 0 |Released 13-09-18 | AVO
S=Eo==="[ 1 |Released 30-07-20 | SK |DRAWING NUMBER|
dustrial i
The Netherlands vwwrekocom LB1200-1 |
GEN. DIM. TOLERANCES ACC. TO 150 2768-mk | © THIS DRAWING IS ISSUED BY REKO INDUSTRIAL EQUIPMENT BV SUBJECT TO THE CONDITIONS
WELDING TOLERANCES ACC. TO ISO 13920-AE | THAT IT IS NOT COPIED EITHER IN WHOLE OR IN PART OR DISCLOSED TO THIRD PARTIES UNLESS
SHARP EDGES REMOVED ACC. TOISO 13715 PRIOR WRITTEN AUTHORISATION IS GIVEN BY REKO INDUSTRIAL EQUIPMENT BV
| 10 | ) | o | / | 6) | o) | 4 > | P | I




12 11 | 10 8 | 7 | 6 | 5 | 4 | 3 | 2 | 1
H
3 @ (4) -
- a)o -
G
DN200 PN10 EN1092-1 TYPE 02
GECOAT ALUMINIUM B
x 3
&3 = INSPECTIELUIK
= 200 (%) F
m m
3
g -
\— \ ———H— DN300 PN10 ENT092-1 TYPE 02
© AN GECOAT ALUMINIUM
O = T U A E
Y Y 4L 4';
1884 £992 i i 680 1 170
1948 i 945 :
) 680 :
530 75
D
e e
15[ 2 A2 ZESKANTTAPBOUT M6x20 DIN933 C
4] 2 A2 VEERRING M6 DIN27
131 6 A2 HOGE DOPMOER M8 DINT587
sl o o 121 6 A2 ZESKANTMOER M8 DIN934
8 = R 1] 6 A2 VLAKKE SLUITRING M8 DIN125
0] 6 PAG DUBO BORGRING M8
9 | 2 EPDM AFDICHTING INSPECTIELUIK
8 | 1 |2REKKIGA9-2  |AISI316 TYPE PLAAT
7 | 2 [ROD400SC0550 |STAAL GASDRUKVEER 10/22 400MM 550N
6 | 1 |LB1800-Z AIS| 304 ZEEFPLAAT 1800LB
5 | 3 [LB1800-T AISI 304 TREKSTANG 1800LB
4 |1 |LB1800-D AIS| 304 BOVENDEKSELT800LB 5
3 | 1 [LB1800C AISI 304 VOORDEKSEL 1800LB
2 | 1 [LB1800-B AISI 304 BAFFLEPLAAT 1800LB
1 | 1 |LBI800-2A AISI 304 CASCO 1800LB
@15 (4x) [TEM| QTY| PARTNUMBER | MATERIAL DESCRIPTION
/ @ TITLE ZEEFBOCHT 1800LB SCALE: 1:10 | AT
I . < MATERIAL MASS: 282,57 kg [~
e — REVIREVSTATUS |DATE BY | CHECKED
= 5= 2= 5 =| 0 |Released 17-09-18 | AVO
FUNDATIEPLAN S-S - DRAWING NUMBER]
dustrial i
The Nefherfands mamrckocom LB1800-2 |
GEN. DIM. TOLERANCES ACC. TO 1SO 2768-mk © THIS DRAWING IS ISSUED BY REKO INDUSTRIAL EQUIPMENT BV SUBJECT TO THE CONDITIONS
WELDING TOLERANCES ACC TOISO 13920-AE | THAT IT IS NOT COPIED EITHER IN WHOLE OR IN PART OR DISCLOSED TO THIRD PARTIES UNLESS
SHARP EDGES REMOVED ACC. TOISO 13715 PRIOR WRITTEN AUTHORISATION IS GIVEN BY REKO INDUSTRIAL EQUIPMENT BV
P4 [ | U o | / | o | o) | 4 > | Z | |




11 | 10 | 9 | 8 | i | 6 | 5 | 4 | 3 | 2 | 1
H
(1) (812 (4) ) 1950 ‘
. 600 i j 1900 §
B e e TS SS o | B
B Jb—g: [ { A
~—_ | Or—-
== =~ / l);f = i ( ;
i h G
6 / // | _
/ /|
/ ///, I : DN200 PN10 EN1092-1 TYPE 02
13 , y | GECOAT ALUMINIUM
/ / B
12 | / !
//
1 14/ ///6
/
o 10 /
3 / // - I g INSPECTIELUIK
H 5 / / @200 (2x) F
/.
I — / 3
/ _
4 R
7\ 2 -
\ N
A o \ ———H— DN300 PN10 EN1092-1 TYPE 02
© N GECOAT ALUMINIUM
o oS 1 R = ] &
E
, Y | I | , , | I B B |
1984 i i +992 i B 680 1170
2048 i i 945 §
- &O -
530 75
T o | P
15[ 2 A2 ZESKANTTAPBOUT M6x20 DIN933 C
4 2 A2 VEERRING M6 DINT27
ol o 13 6 A2 HOGE DOPMOER M8 DINT587
S| 38 216 A2 ZESKANTMOER M8 DING34
= | 1| 6 A2 VLAKKE SLUITRING M8 DIN125
10| 6 PAG DUBO BORGRING M8
9 | 2 EPDM AFDICHTING INSPECTIELUIK
8 | 1 |2REKKIG492  |AISI316 TYPE PLAAT
7 | 2 |ROD400SC0550 |STAAL GASDRUKVEER 10/22 400MM 550N
6 | 1 |LB1900-Z AISI 304 ZEEFPLAAT 1900LB
5 | 3 |LB1900-T AISI 304 TREKSTANG 1900LB
4 | 1 |LB1900-D AISI 304 BOVENDEKSEL 1900LB 3
3 | 1 |[B1900-C AISI 304 VOORDEKSEL 7900LB
2 | 1 [[B1900-B AISI 304 BAFFLEPLAAT 1900LB
7 | 1 |LB1900-2A AISI 304 CASCO 1900LB
D15 (4x) ITEM| QTY| PARTNUMBER | MATERIAL DESCRIPTION
i @ TITLE ZEEFBOCHT 1900LB SCALE 1:10 | AT
I e & MATERIAL: MASS; 29002 kg [~
e REV]REVSTATUS _|DATE BY | CHECKED
= 5= 2= 5 =| 0 |Released 18-09-18 | AvO
FUNDAMENTPLAN ESESEISE S DRAWING NUVBER]
O Industrial i
TRIEeK Ne!t%elrij::gs mggfcc?r\r/w LB 1900_2 A
GEN. DIM. TOLERANCES ACC. TO 1SO 2768-mk © THIS DRAWING IS ISSUED BY REKO INDUSTRIAL EQUIPMENT BV SUBJECT TO THE CONDITIONS
WELDING TOLERANCES ACC TOISO 13920-AE | THAT IT IS NOT COPIED EITHER IN WHOLE OR IN PART OR DISCLOSED TO THIRD PARTIES UNLESS
SHARP EDGES REMOVED ACC. TOISO 13715 PRIOR WRITTEN AUTHORISATION IS GIVEN BY REKO INDUSTRIAL EQUIPMENT BV
T I 0 | g I 8 | 7 I 3 I 5 | Z 3 | 7 | |






